=LPDB

3UDFRZQLN 5RINiDG ORX0LQ 6WRIHN ODULD 7\J

RQIQH

RQIQH

RQIQH

o
™
=
n
oD
D
—_
o
=
)
7\6]
JQURGXFIIRQ IR (QIIVK .
/DZ 3HQRRI\ ORXIQ 1
GIRTHN ODUD  35$ = JQURGXFIR
=) -$5 QIR
= ; (QIWVK
& ROUQH /DZ 3HQR!
14 RI\ ORXIQ
> BIRTHN
oDUD
35% -
-$5
RQIQH
a 7\6] 7\6] 7N 7N
£ JQURGXFIIRQ IR (QIIVK JQURGXFIIRQ IR (QIIVK JQURGXFIIRQ IR (QIIVK JQIURGXFIIRQ IR (QIIVK
= /DZ 3HQRRI\ ORXIQ /DZ 3HQRRI\ ORXIQ /DZ 3HQRRI\ ORXIQ /DZ 3HQRRI\ ORXIQ
0) GIRTHN ODUD  35$ = GIRTHN ODUD  35$ = GIRTHN ODUD  35$ - GIRTHN ODUD  35$ -
% -$5 = $5 = $5 = $5

RQIQH




